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9x =13

(x+3)2=9

x2—7x=—2

(x+2)2=0
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x> —64=0

8x°—2=0

3(x—7)>—108=0

x2+x—6=0

(x+11)(x—12)=0
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2) ROFEXZMEGSL. (2R X10%8)

1) x2=% 2) x2—1=0
2 2
3) 6x =54 4) 27x°—75=0
5) (x—8)>=50 6) 2(x+5)°—98=0
7 x°+10x+25=4 8) x +4x—8=0

9) (x+2)(x—2)=0 100 (x—5)(x+3)=0
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3) ROFEAZREEIL, (2R X108

1) x°=0. 36 2) x'—2=0

3) 4x =11 4) 6x —8=0

5) (x—9)°=27 6) 5(x+3)°—25=0
7) X +12x=10 8) x +3x+1=0

9) (x—4)(x+1)=0 10) (x+6)°=0
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2 2
3) 8x =72 4) 11x —3=0
2 2
5 ((x—4) =4 6) 6(x+8) —6=0
2 2
7) x —8x+16=9 8) x +10x—9=0

9) (x+6)(x—8)=0 100  (x—4)°=0
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1) x°=0.25 2) x2—%=o
2 2

3) 7x°=5 4) 15x°—45=0

5) (x+1)°=8 6) 4(x+8)°—160=0
2 2

7) x —14x+4+49=20 8) x —x—5=0

9) (x+7)(x—9)=0 100 (x+1)(x—1)=0
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1) ABE—#@% (25X 108) = B
13
1) x=i\/g 2) x==8 3) x=i£3 4) x +%
41
5) x=0, —6 6) x=13, 1 % £2 8) x=2, —3
9) x=—2 10) x=12, —11
2) KE—RE (24X 108) = B

3
1) x=i£2 2) x==1 3) x=%£3 4) x=i§

B) x=8x5/2 6) x=2,—-12 7) x=-3,—-7 8) x=—2¢2\/§
9) x=x2 10) x=5, —3

3) KE—M@E (2R X108 A B

1 23
1) x==x0.6 2) x= +% 3) x=i£2 4) x=i—3

ro e

5) x=9+3 |3 6) x=—3i\/; D) x=—6¢\/£ 8) x=—§i
9) x=4,—-1 10) x=—
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4) KE—#RE (2R X108 A B
5 33
1) x==x4 2) x=i£ 3) x==£3 4) x=i£
5) x=6,2 6) x=-7,-9 7) x=7,1 8) x=—5¢\/;
9) x=8,—6 10) x=4

5) £E—ME (2RX10) A =|
11 35
1) x==%x0.5 2) x=i£3 3) x=i£7 4) x=i\/;

B) x=—1x2 (2 6) x=—8x2[10 7) x=712\/g

21
8) x=1§i£2 9) x=9, —7 10) x==%1



